®OMEHKO T.M., 'OPBAYEBA E.IO.
KJIFOYH K KOHTPOJIBbHBIM padoTaM no (paHIy3CKOMY A3BIKY

KonTpoabsnas padora Nel

C1-1: K1- 2 ; K2-1; K3-0 : = 3 (Bcero 0a/1710B)
C2-1: K1- 2; K2-2 ; K3-2 ; K4-1 ; K5-1= 8 (Bcero 0a/1710B)

KonTtpouabHas padora Ne2

C1-2: K1-2; K2-2; K3- 0 : =4 (Bcero 0a.,1;10B)
C2-2: K1- 1; K2- 2 ; K3-1 ; K4-0; K5-2 = 6 (Bcero 0a/1;10B)

KonTpouabHas padora Ne3

C1-3: K1-1 ; K-2; K3-0: =3 (Bcero 0a/1710B)
C2-3: K1-2 ; K2-2 ; K3-2 ; K4-1 ; K5-1 =8 (Bcero 0a.1;10B)

KonTpoabsHas padora Ne4

C1-4: K1-1 ; K2-1; K3-2: = 4 (Bcero 0a.,1;10B)
C2-4: K1-2; K2- 2 ; K3-3 ; K4-2 ; K5-2 = 11 (Bcero 0a/1710B)

KonTtpouabHas padora Ne §

C1-5: K1-2 ; K2-2; K3-0: = 4 (Bcero 0aJi1a)
C2-5: K1- 0; K2- 0 ; K3-0 ; K4-0 ; K5-0 = 0 (Bcero 0a/1;10B)



